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Disney World opens 
in Shanghai 

‘Penaldo’ no more???????? 

Tomorrow is the  
longest day of  
the year! 

UK Astronaut Tim Peak returns to Earth 

EU Referendum Poll Tracker… 

On the night of his 128th appearance  
for Portugal, Cristiano Ronaldo  
missed a penalty as Portugal drew  
0-0 with Austria. He has now missed  
the last 4 out of 5 penalties for club  
and country. What percentage of his  
last 5  
penalties  
has he  
actually  
scored? 

SPORT 

UK astronaut Tim Peake is back on Earth after a  
historic six-month stay on  
the International Space  
Station. His mission has  
taken him on about 3000  
orbits of Earth, covering a  
distance of 125 million  
kilometres. What is the  
length of one orbit of Earth? 

SCIENCE 

The summer  
solstice is the  
longest day of the year the day in which we can enjoy the most  
daylight. This year it's on Monday, 
June 20. The sun will rise at  
4·45 am and sunset will  
happen at 10·34 pm.  What  
is the total amount of day  
light we can enjoy? Give your  
answer in hours and minutes. 

WEATHER 

WORLD 

The park cost Disney  
$5·5 billion to build. A  
family ticket is very  
reasonably priced  
compared to other resorts  
costing $198. How many  
family tickets must be  
sold before Disney can 
make a profit? 

According to the polls yesterday, what percentage of  
voters are undecided on what way to vote on Thursday? PO
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